A plane flies horizontally at an altitude of 5 kilometers and passes directly over a tracking telescope on the SCORE: /14 PTS

ground. When the angle of elevation is 60°, this angle is decreasing at a rate of 30° per minute, How fast is the plane travelling at that time ?
You must state the units for the final answer. You do NOT need to show the units during the intermediate steps of your work,
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Use an appropriate linear approximation to estimate sin~ 0.48
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A ladder 13 feet long rests against a vertical wall. If the bottom of the ladder is being pushed towards the wall at

2 feet per second, how fast is the top of the ladder moving against the wall when the bottom of the ladder is 5 feet from the wall ?

SCORE: /10 PTS
You must state the units for the final answer. You do NOT need to show the units during the intermediate steps of your work
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